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NEW QUESTION 1
Which two are true about RMAN backups when using a media manager to write backups to tape when there are only two tape drives? (Choose two.)

A. SBT tape compression can be used even if no RMAN compression is configured.
B. Any backup set written to the SBT device in this configuration can contain a maximum of two backup pieces.
C. Any backup written to the SBT device in this configuration can contain a maximum of two backup sets.
D. SBT tape compression and RMAN backup compression should be used in parallel.
E. The SBT device should be configured to use PARALLELISM 2 to allow both tape drive to be used simultaneously.

Answer: DE

NEW QUESTION 2
Which two are true about data movement between a non-CDB and a PDB using Data Pump? (Choose two.)

A. Tablespaces are automatically created as neeed while importing full exports in either a non-CDB or a PDB.
B. Oracle attempts to convert conventional database users to local users when moving schemas from a non- CDB to a PDB.
C. A new PDB is automatically created when importing a non-CDB into a CDB.
D. Oracle attempts to convert common users to conventional users when moving schemas from a PDB to a non-CDB.
E. Moving data from a PDB to anon-CDB is only possible by using transportable tablespace export and import.
F. Moving data from a non-CDB to a PDB is only possible by using conventional export and import.

Answer: DE

NEW QUESTION 3
A database is configured in ARCHIVELOG mode.
Full RMAN backups are taken and no backup to trace has been taken of the control file. A media failure has occurred.
In which two scenarios is complete recovery possible? (Choose two.)

A. when any archived log from, before, or after the most recent backup is corrupt.
B. after losing all copies of the control file
C. after losing an archived log from after the most recent backup
D. after losing an archived log from before the most recent backup
E. after losing the SYSTEM tablespace

Answer: DE

NEW QUESTION 4
Examine these actions:
* 1. Create a new database for a recovery catalog.
* 2. Create a tablespace with sufficient space in the catalog database for the recovery catalog.
* 3.Configure ARCHIVELOG mode for the catalog database.
* 4. Create a user to own the recovery catalog schema with quota on the tablespace that will containthe catalog.
* 5. Grant the RECOVERY_CATALOG_OWNER role to the recovery catalog schema owner.
* 6.Grant the SYSBACKUP privilege to the recovery catalog schema owner.
Which are the minimum actions that must be performed before executing the CREATECATALOG command?

A. 2, 4, 5, 6
B. 1, 2, 3, 4, 5, 6
C. 1, 2, 4, 5
D. 2, 4, 5
E. 1, 3, 4, 5

Answer: D

NEW QUESTION 5
Which three are true in Oracle 19c and later releases? (Choose three.)

A. If the password file location changes, then the new location is used automatically by the Oracle Server.
B. Schema Only accounts can be granted administrator privileges.
C. All the Oracle-supplied accounts are Schema Only accounts.
D. Privilege Analysis is included in Oracle Enterprise Edition and no longer requires Database Vault.
E. Unified Auditing can be configured to audit only events that are issued indirectly by an audited user.
F. Unified Auditing can be configured to audit only events that are issued directly by an audited user.

Answer: BCD

NEW QUESTION 6
Examine this configuration:

 CDB1is an Oracle Database 12c Release 2 database containing pluggable databasesPDB$SEED,PDB1, andPDB2.

 PDB$SEEDis openREAD ONLY

 PDB1is openREAD WRITE

 PDB2isMOUNTED.

 ORACLE_HOMEis/u01/app/oracle/product/18.1.0/dbhome_1.
You execute these commands before upgrading the database to the current release:
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For which databases will fixup scripts be created?

A. CDB1, PDB$SEED, PDB1, and PDB2
B. PDB$SEED, PDB1, and PDB2 only
C. CDB1 and PDB$SEED only
D. CDB1, PDB1,and PDB2 only
E. CDB1, PDB$SEED, and PDB1 only

Answer: E

NEW QUESTION 7
Which three are true about managing memory components in an Oracle database instance? (Choose three.)

A. With Automatic Shared Memory Management, the database instance can increase the Large Pool size byreducing the Shared Pool size.
B. With Automatic Memory Management, the database instance can increase the System Global Area size by reducing the Program Global Area size.
C. Automatically tuned and resized System Global Area components will always revertto their initial sizes after an instance restart.
D. Automatic Memory Management must be used together with locking the System Global Area into physical memory.
E. With Automatic Shared Memory Management, the database instance can increase the Program Global Area size by reducing the System Global Area size.
F. On Line Transaction Processing systems often use less Program Global Area than Decision Support Systems.

Answer: AEF

NEW QUESTION 8
Which three are true about an application container?

A. It must have an application root PDB.
B. It can contain multiple applications.
C. An application PDB can belong to multiple application containers.
D. Two application containers can share an application seed PDB.
E. It can contain a single application.
F. It must have an application seed PDB.

Answer: BDE

NEW QUESTION 9
Which two are true about Oracle Database Configuration Assistant (DBCA) templates? (Choose two.)

A. The General Purpose of Transaction Processing templates are most suitable when concurrency and recoverability are key criteria.
B. Oracle DBCA templates can store only logical structure and not database files.
C. New templates can only be created by modifying an existing user-created template.
D. The Data Warehouse template is most suitable when transaction response time is the key criterion.
E. Oracle DBCAtemplates can be used to create new databases and duplicate existing databases.

Answer: AE

NEW QUESTION 10
Your CDB has two regular PDBs as well as one application container with two applicationPDBs and an application seed
No changes have been made to the standard PDB$SEED.
How many default temporary tablespaces can be assigned in the CDB?

A. three
B. eight
C. seven
D. six
E. five

Answer: C

NEW QUESTION 10
Examine this output:
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Which two are true? (Choose two.)

A. Any PDB not specified in the plan will be unable to execute statementsin parallel.
B. PDB3 can use all available parallel execution processes at times.
C. PDB1 is always limited to 40% of the available system resources regardless of demand.
D. Any PDB not specified in the plan will be able to use a maximum of 16.5% of the available system resources.
E. PDB3 is guaranteed to receive at least 20% of the available system resources if there is enough demand.
F. PDB2 is guaranteed at least 25% of the available parallel execution processes if there is enough demand.

Answer: AE

NEW QUESTION 12
How do you configure a CDB for local undo mode?

A. Open the CDB instance in upgrade mod
B. In cdb$root, execute alter database local undo on, and then restart the CDB instance.
C. Open the CDB in read-only mod
D. In cdb$root, execute alter database local undo on, and then change the CDB to read/write mode.
E. Open the CDB instance in restricted mod
F. In cdb$root, execute alter database local undo o
G. create an undo tablespace in each PDB, and then restart the CDB instance
H. Open the CDB instance in restricted mod
I. In cdb$root, drop the undo tablespac
J. Execute alter database local undo on in each PDB, and then restart the CDB instance.
K. Open the CDB instance in upgrade mod
L. In each PDB, execute alter database local undo on, create an undo tablespace, and then restart the CDB instance.

Answer: D

NEW QUESTION 14
Which three are true about RMAN persistent configuration settings, administration, and their effects? (Choose three.)

A. A target database’s persistent RMAN configuration settings are always stored in the target’s control file
B. Backup older than the recovery window retention policy are always deleted automatically if the backup location has insufficient space.
C. Backups written to the fast recovery area (FRA) that are oboslete based on the redundancy retention policy can be deleted automatically to free space.
D. The RMAN SHOW ALL command displays only settings with nondefault values.
E. A target database’s persistent RMAN configuration settings are always synchronized automatically with the RMAN catalog.
F. The V$RMAN_CONFIGURATION view displays only settings with values that have been modified.
G. A DBA must specify either a redundancy retention policy or a recovery window retention policy.

Answer: ABF

NEW QUESTION 15
Examine this configuration:

 CDB1is a container database.

 COMMON_USER_PREFIXisC##.

 PDB1is a pluggable database contained inCDB1.

 APP1_ROOTis an application container contained inCDB1.

 APP1_PDB1is an application PDB contained inAPP1_ROOT.
You execute these commands successfully:
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Which two are true? (Choose two.)

A. APP1_USER1 can be created in PDB1.
B. APP1_USER1 can be created in CDB1.
C. APP1_USER1 canhave different privileges in each Application PDB contained in APP1_ROOT.
D. C##_APP_USER1 can be created in CDB1.
E. P1_USER1 can be created in CDB1.
F. C##_USER1 will have the same privileges and roles granted in all PDBs in CDB1.

Answer: CF

NEW QUESTION 20
Examine this command:
$ rhpctl move database –sourcehome Oracle_home_path –destinationhome Oracle_home_path For which two purposes can you use this command? (Choose
two.)

A. to switch an existing Oracle Database home to anewer release of Oracle software on the same server
B. to switch to a read-only Oracle home
C. to switch back to the previous Oracle home as part of a rollback operation
D. to switch the Oracle Database home when using a centralized Rapid Home Provisioningserver
E. to switch to a patched Oracle Database home

Answer: CE

Explanation: 
You can use rhpctl move gihome command with the same syntax to switch from the current Oracle Grid Infrastructure home to a patched home. The rhpctl
command enables you to switch from your current Oracle Grid Infrastructure or Oracle Database home to patched Oracle home so that you can provision the new
Oracle home as gold image. You can also use the rhpctl command to switch back to the old Oracle home, if you want to roll back the operation.

NEW QUESTION 23
Which three are true about thresholds, metrics, and server-generated alerts? (Choose three.)

A. All metrics are instance related.
B. Cleared statefulalerts are displayed by querying DBA_ALERT_HISTORY.
C. A space usage management alert is automatically cleared after the underlying problem is resolved.
D. They are generated by SMON when a tablespace is 97% full.
E. Metrics are statistical counts for aspecific unit.
F. STATISTICS_LEVEL must be set to ALL to generate alerts.

Answer: BCE

NEW QUESTION 26
Which four are true about RMAN backup sets? (Choose four.)

A. A backup piece can belong to only one backup set.
B. A data file can be split into multiple sections stored in different backup sets.
C. A data file canbe split into multiple sections stored in different backup pieces in the same backup set.
D. Blocks from multiple data files can be contained in one backup piece,
E. A backup set can contain only one backup piece.
F. A backup set must be written to media.
G. A backup set must be written to disk.
H. Blocks from multiple data files can be contained in one backup set,
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Answer: BEFH

NEW QUESTION 31
Examine thisconfiguration:
* 1. CDB1 is a container database running in archivelog mode.
* 2. Multiple uncommitted transactions are running in CDB1.
* 3. Redo log groups 1 and 2 are inactive.
* 4. Redo log group 3 is the current group.
All members of redo log group 3 arelost before it is archived. Examine these possible steps:
* 1. SHUTDOWN ABORT
* 2. STARTUP NOMOUNT
* 3. STARTUP MOUNT
* 4. ALTER DATABASE MOUNT
* 5. RESTORE DATABASE
* 6. RECOVER DATABASE NOREDO
* 7. RECOVER DATABASE UNTIL AVAILABLE
* 8. RESTORE ARCHIVELOG ALL
* 9. ALTER DATABASE OPEN
* 10. ALTER DATABASE OPEN RESETLOGS
Choose the minimum required steps in the correct order to recover the database.

A. 1, 3, 5, 6, 10
B. 1, 3, 5, 8, 6, 10
C. 1, 3, 5, 6, 9
D. 1, 3, 5, 6, 10
E. 1, 2, 5, 7,4, 10
F. 1, 3, 5, 7, 10

Answer: D

NEW QUESTION 33
Oracle Managed Files (OMF) is enabled in a CDB and thiscommand is successfully executed:

Which three are true? (Choose three.)

A. Application PDBs that are subsequently created in the APP1 application container will be cloned from APP1$SEED.
B. An application seed PDB is created for APP1.
C. An application root PDB is created for APP1.
D. A default service is created for the application root APP1.
E. Application PDBs that are subsequently created in the APP1 application container will be cloned from PDB$SEED.
F. APP1 can never be unplugged.

Answer: ABE

NEW QUESTION 34
Which three are true about Automatic Workload Repository (AWR)? (Choose three.)

A. By default, AWR snapshots are taken every 60 minutes.
B. Its collection level is determined by the value of theSTATISTICS_LEVEL database parameter.
C. By default, AWR snapshots are retained for 7 days.
D. The taking of AWR snapshots can be disabled.
E. AWR data is stored in the SYSTEM tablespace.

Answer: ABD

NEW QUESTION 37
Examine this configuration:

WhileCDB1is open,‘/u02/app/oracle/fast_recover_area/cdb1/CDB1/controlfile02.ctl’is accidentally deleted. To recover from this critical failure, you execute these
commands:
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What will be the outcome?

A. It will create ‘$ORACLE_HOME/dbs/cdb1/CDB1/controlfile02.ctl’
B. It will create ‘/u01/app/oralce/oradata/CDB1/controlfile/controlfile02.ctl’.
C. It will re-create ‘/u02/app/oracle/fast_recover_area/cdb1/CDB1/controlfile02.ctl’
D. It will create ‘/u01/app/oracle/product/12.2.0.1/db_1/dbs/snapcf_cdb1control02.ctl’.
E. It will fail because there is no autobackup of the controlfiles.

Answer: C

NEW QUESTION 41
Which two are true about the Automatic Database Diasnostic Monitor (ADDM)? (Choose two.)

A. It analyzes a period of time corresponding to the 12 hours of activity.
B. It runs automatically after each AWR snapshot.
C. A DBA can run it manually.
D. Results are written to the alert log.
E. It analyzes a period of time corresponding to the last day of activity.

Answer: BC

NEW QUESTION 44
Examine this configuration:

 CDB1is a container database.

 PDB1andPDB2arepluggable databases inCDB1.

 PDB1andPDB2areOPENinREAD WRITEmode.
You execute these commands successfully:

Which two are true? (Choose two.)

A. Uncommitted transactions in PDB1 have been rolled back.
B. PDB1 is closed.
C. Uncommitted transactions in CDB1 and PDB1 have been rolled back.
D. CDB1 is shut down.
E. CDB1 is in MOUNT state

Answer: AB

NEW QUESTION 48
The USERS tablespace consists of data files 3 and 4 and must always be online in read/write mode.
Which two are true about using RMAN to perform an open database back up of this tablespace? (Choose two.)

A. Backups must be doneincrementally.
B. Backups must be contained in backup sets.
C. Backups can be taken only if the database is in ARCHIVELOG mode.
D. Backups can be done incrementally.
E. The database must be registered in an RMAN catalog.
F. Only consistent backups can becreated.

Answer: CE

NEW QUESTION 51
YourSALES_ROOTapplication container has two application PDBs. TheSALES_APPapplication has a common table,FIN.REVENUE, in the two PDBs. Examine
this query and its output:
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Which two are true? (Choose two.)

A. The CONTAINERS clause cannot be used in queries on the REVENUEtable.
B. The REVENUE table must be a list-partitioned table.
C. The MAPTABLE tables defines a logical partition key on a commonly used column for the REVENUE table.
D. The MAPTABLE table is a metadata-linked table.
E. A container map exists for theREVENUE table, but is not enabled.
F. The REVENUE table partitions are not pruned across the PDBs automatically.

Answer: CE

NEW QUESTION 55
Which two are true about Recovery Manager (RMAN) diagnostic message output? (Choose two.)

A. Media Management messages for SBT devices are always written to sbtio.log.
B. RMAN error stacks should be read from the bottom up as that is the order in which errors are generated.
C. RMAN error stacks should be read from the top down as that is the order in which errors are generated.
D. The RMAN LOG command line clause causes output issued during RMAN commandcompilation to bewritten to a log file and to standard output.
E. The RMAN LOG command line clause causes output issued during RMAN command compilation to be written to a log file only.
F. Media Management messages for SBT devices are written to an Oracletrace file.

Answer: EF

NEW QUESTION 57
Which two are true about unplugging an application container from a container database and plugging it into a different container database?

A. It requires local undo mode in both container databases.
B. It requires only local undo mode in the database where the application container will be unplugged.
C. Plugging the application root into a different CDB plugs In all its application PDBs.
D. Application PDBs In the application container must beunplugged before the application root Is unplugged.
E. Unplugging the application root from a CDB unplugs all its application PDBs.
F. The application root of an application container should be plugged Into the other CDB before Its application PDBs are plugged in.

Answer: DE

NEW QUESTION 62
Which three are true about the SQL Tuning Advisor? (Choose three.)

A. It checks each query being analyzed for stale statistics.
B. It checks each query being analyzed for missing statistics.
C. It only recommends syntactic changes to SQL statements.
D. It can recommend semantic changes to SQL statements.
E. It considers all SQLstatements being analyzed by the advisor task as a group.
F. It builds SQL profiles for each poorly performing SQL statement to prevent regressions.

Answer: ABF

NEW QUESTION 64
Examine these queries and their output:
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After a system crash, an instance restart and an attempted opening of the PDBs result in:

Which two are true? (Choose two.)

A. Data file 24 can be recovered while PDB2 is opened.
B. Data file 24 must be recovered while the CDB is opened.
C. Data file 24 can be recovered while CDB$ROOT and PDB$SEED are opened.
D. Data file 24 cannot be recovered while the CDB is opened.
E. Data file 24 must be recovered while PDB2 is closed.

Answer: AB

Explanation: 
* 19c: PDB SYSTEM or UNDO Tablespace Recovery: The CDB and all other PDBs can be left opened. 1. Connect to PDB 2. Shutdown abort the PDB, if its not
automatically done. sqlplus sys@sales_pdb as sysdba sql> SHUTDOWN ABORT; OR ALTER PLUGGABLE DATABASE CLOSE ABORT; rman target
sys@slaes_pdb rman> restore database; rman> recover database; rman> alter pluggable database sales_pdb open;

NEW QUESTION 68
Which two are true about automatic block repair? (Choose two.)

A. Automatic block repair can repair blocks with no standby database if DB_BLOCK_CHECKING = TRUE.
B. Real-Time Query must be enabled on a physical standby database for automatic block repair to be done on that physical standby database.
C. Real-Time Query must be enabled on a primary database for automatic block repair to be done on any of its physical standby databases.
D. It is not possible for media corrupt blocks.
E. Real-Time Query must be enabled on a physical standby database for automatic block repair to be done on its primary database.

Answer: BC

Your Partner of IT Exam visit - https://www.exambible.com 



We recommend you to try the PREMIUM 1z0-083 Dumps From Exambible
https://www.exambible.com/1z0-083-exam/ (96 Q&As)

NEW QUESTION 71
You have configured RMAN SBT channels to write backups to media. You then take an RMAN backup by using this command:

Which three are true? (Choose three.)

A. The restore point is a label for the system change number (SCN) that will be savedtwo years after the archival backup was taken.
B. The data file backups in the self-contained archive backup are not considered obsolete for two years regardless of the retention policy.
C. All archive logs created after this backup are kept for two years.
D. The SPFILE is included in the self-contaied archival backup.
E. The control file is included in the self-contained archival backup.
F. The restore point is a label for the system change number (SCN) before the archival backup was taken.

Answer: CDE

NEW QUESTION 75
While backing up to an SBT channel, you determine that the read phase of your compressed Recovery Manager (RMAN) incremental level 0 backup is a
bottleneck.
FORCE LOGGING is enabled for the database.
Which two could improve read performance? (Choose two.)

A. Increase the size of tape I/O buffers.
B. Disable FORCE LOGGING for the database.
C. Increase the size of the database buffer cache.
D. Enable asynchronous disk I/O.
E. Increase the level of RMAN multiplexing.

Answer: DE

NEW QUESTION 78
Which two are true about creating RMAN backups for an Oracle container database? (Choose two.)

A. Tablespaces from different PDBs with identical names must be backed up by connecting RMAN separately to each PDB to back up the tablespaces.
B. The BACKUP DATABASE command will create a pluggable database (PDB) backup when RMAN is connected to a PDB.
C. SPFILEbackups can be created while connected to an application root PDB.
D. The BACKUP DATABASE PLUS ARCHIVELOG command will back up archive logs when RMAN is connected to a PDB.
E. The BACKUP PLUGGABLE DATABASE command can be used to back up CDB$ROOT.

Answer: AB

NEW QUESTION 82
Which two are true about Oracle Optimizer Statistics, their use, and their collection? (Choose two.)

A. The number of table rows is considered when evaluating the cost of accessing a table using an index.
B. Index balanced B*Tree height is considered whenevaluating the cost of using an index.
C. The Statistics Advisor can help recommend the best way to gather statistics.
D. Statistics collected using DBMS_STATS always yield the best optimizer result.
E. The Statistics Advisor generates actions for all recommendations.

Answer: CD

NEW QUESTION 87
While backing up to the Oracle Fast Recovery Area (FRA), you determined the backup is taking too long and suspect a performance bottleneck.
Which three are true about diagnosing and tuning these problems? (Choose three.)

A. If an RMAN BACKUP VALIDATE command takes roughly the same time as an actual backup, then both read and write I/O are likely bottlenecks.
B. Setting DBWR_IO_SLAVES to a non zero value can improve backup performance when using synchronous I/O.
C. If an RMAN BACKUP VALIDATE command takes noticeably less than an actual backup, then write I/O is a likely bottleneck.
D. If an RMAN BACKUP VALIDATE command takes roughly the same time as an actual backup, then read I/O is a likely bottleneck.
E. Data files with a high value in V$BACKUP_SYNC_IO.DISCRETE_BYTES_PER_SECOND are a potential performance bottleneck when synchronous I/O is
used.
F. Setting DBWR_IO_SLAVESto a non zero value can improve backup performance when usingasynchronous I/O/
G. Data files with a high value in V$BACKUP_ASYNC_IO.SHORT_WAITS are a potential performance bottleneck when asynchronous I/O is used.

Answer: BCE

NEW QUESTION 91
Which three are true about performing an Oracle Database install on Linux? (Choose three.)

A. The runfixup.sh script can install missing RPMs.
B. The Oracle Preinstallation RPM must be used to configure the Oracle database installation owner, the Oracle Inventory group, and an Oracle administrative
privileges group.
C. It allows you to select the languages supported by the Oracledatabase server.
D. It can be done before installing Grid Infrastructure for a Standalone Server.
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E. The Oracle Preinstallation RPM can be used to configure the Oracle database installation owner, the Oracle Inventory group, and an Oracle administrative
privileges group.
F. It can be done after installing Grid Infrastructure for a Standalone Server.
G. The Oracle database administrator must be granted access to the root operating system account to tun root privileged scripts.

Answer: CEG

NEW QUESTION 92
Application PDBs, SALES_APP1 and SALES_APP2, must be created and they must access common tables of the SALES_APP application.
Examine these steps:
* 1. Install the SALES_APP application, including the commontables, in the application root.
* 2. Install the SALES_APP application in the application root and the common tables in both the CDB root and the application root.
* 3. Create an application seed.
* 4. Install the SALES_APP application in the application seed.
* 5. Create the SALES_APP1 and SALES_APP2 application PDBs.
* 6. Sync the SALES_APP1 and SALES_APP2 application PDBs with the application root.
* 7. Sync the SALES_APP1 and SALES_APP2 application PDBs with the application seed.
* 8. Sync the application seed withthe application root.
Which are the minimum required steps in the correct sequence?

A. 3,4,1,6,8
B. 1,5,6
C. 1,3,5,6,7
D. 1,3,5,7
E. 2,5,6

Answer: B

NEW QUESTION 95
Which three methods can be used for heap table data migration after upgrading a database? (Choose three.)

A. using Database Replay
B. using SQL Developer
C. using Oracle Data Pump
D. using operating system file copy utilities
E. using Database Upgrade Assistant
F. using the CREATE TABLE AS SELECT SQLstatement

Answer: DEF

NEW QUESTION 99
......
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